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IBPS RRB Clerk Prelims 2024 Memory Based Paper 10 Aug.2024- 1st Shift

Directions (1-3): In the question below, relationship between different elements is shown in the
statement. These statements are followed by two conclusions. Give answer:

T R 1 o ®, Fuer & RAfSsr aeat F fiw geer g9t 4w {1 39 FuE & 9 < Ao R g €) s9)
v

Q1. Statement: X2E>Z=W<D<U=T

Conclusions:

LU>Z

ILX>2W

FITX2E>Z=W<D<U2T

e

LU>Z

ILX2W

(a) Only conclusion I is true/ Fa< ey [ G g

(b) Only conclusion II is true/ e e I 97 §

(c) Either conclusion I or Il is true/ I7 a7 A9 [ AT €T &
(d) Neither conclusion I nor Il is true/ 7 T Mg [T 5T 1 T 5
(e) Both conclusion I and Il are true/ et [ 3fi¥ Il 91 97 &

Q2. Statement: M>Q<R=S=2B=U>V

Conclusions:

.LQ<S

ILV<R

FIAT-M>Q<R=S=2B=2U>V

e

.Q<S

IL.V<R

(a) Only conclusion I is true/ Fa< Ay [ g g

(b) Only conclusion II is true/ & fAeFY [ 97 §

(c) Either conclusion I or Il is true/ a1 a7 AT [ AT HT &
(d) Neither conclusion I nor Il is true/ T af ReFT [F & 1 AT §
(e) Both conclusion I and II are true/ /et [ 3f¥ [I T4 @< %

Q3. Statement: P<G>H=A=C<K<S
Conclusions:

. GsK

I.G>K

FIT:P<G>H=A=C<K<S

IELEAE

. GsK

I.G>K
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(a) Only conclusion I is true/ Fae fAeFd | T g

(b) Only conclusion II is true/ & fAwFT 11 T §

(c) Either conclusion I or Il is true/ IT a7 A=FT [ AT I AT &

(d) Neither conclusion I nor Il is true/ 7 a7 fAeFd [T ST 1 T
(e) Both conclusion I and II are true/ fAeF I i< 11 4T 77 &

Directions (4-8): Read the given information carefully and answer the question below:

X T AT T ATAGA F TIST S AT T Tt & ST A

Six persons A, B, C, D, E and F was born in three months - January, February and March on two different
dates - either 9 or 26. The persons were not necessarily born in the same order as given.

D was born on odd date. Two persons were born between D and A. F was born three persons after B. E
is just younger to F but not born in same month as A.

g ATH A, B, C, D, E 3T F &7 570 T A1 - STa<, LAl 3 ATH | & STeT-3T T qr@t - I7ar 9 a7 26
1 GIAT AT| SATHAT 7 STeH STALTF & F THI /7 § Aol g3l AT ST 16 AT AT 51 D 7 51w Forwe fafer 1 gem
T D 3% A % &= &7 A6 T&T gU | F 7 S77 B & A1 =A{<h a18 gt A7T| E, F & 316 ST § AT 361 Ag i
HOUST gl galT g S AgIH # A G_T gam 2

Q4. C was born on which date?
C T 57 o are it gorr o2
(a) 26 February/26 ®¥a<t

(b) 9 January /9 SHa<T

(c) 26 March/26 919

(d) 9 February/9 ®¥a<r

(€) 26 January/26 STHa<T

Q5. How many persons were born before E?
o =af<r E 9 98 ST gu e

(a) None/ &1 95!

(b) One/t=

(c) Two/ =T

(d) Three/ =

(e) More than three/ T & 3Tfer®

Q6. Who among the following was born just after D?
fRefafea § @ %1 D % 3% are ar g an?

(@A) B

(b) F

(0 C

(d) A

(e) Either B or F/aTAT BATF
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Q7. Who among the following is the third youngest person?
fRefafag § e faa g Fea e ?

(a) A

(b)B

(gcC
(A F

(e)E

Q8. Which of the following is true?
[. Disjustolderto F

II. A and B were born in same month
[1I. Two persons are older to C

FRuffeg & T aT-araa g?

LD, FAFISTE

I1. A 3% B T ST#H GHTH Hatd | gair o7
NLITARFCHTZE

(a) Only I/ &<t I

(b) Only 11/ &= 11

(c) Only 111/ &< 111

(d) Both I and 11/ I 3fI¥ 11 14T

(e) Both II and 111/ II &< 11l E14T

Q9. How many pairs of letters are in the word ‘REBUILT’, each of which has as many letters
between them as in the English alphabet (Both Forward and backward direction)?

5% 'REBUILT' # St&1<1 & Q& a4 &, 9 & 73 & i Ia9 &t 9% &, Saq st auiAT™r § 376
A= (IR R fi AT a6 &) B 87

(a) None/ #T< 9&1

(b) One/tT=

(c) Two/ &T

(d) Three /9

(e) Four /=TT

Directions (10-13): In the question below, some statements are given followed by two
conclusions numbered I and II given below it. You have to take the given statements to be true
even if they seem to be at variance from commonly known facts. Read the conclusions and decide
which of the given conclusions logically follows from the given statements. Give answer:

= o 1w sy & g v fog vrw € oreres & <1 e 18 11 fag a1 €)1 stroent e e st 6y e /e
&, o &1 o T ATa a4l & {99 Teita gra ghl Aot s afee ok ax fifomg fr R g Fesat 9 @ «i4-
a7 A AT 1T ot 1 ATfehel €T & SgEor FiLaT 81 ST A

Q10. Statement:

Only a few animal are dog.
All dog is loyal.

No loyal is friendly.
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Conclusions:

[. Some loyal are animal.

II. No animal is friendly.

Y

FAA T, UAAA, ST &

asft =T, AT 2

1 ot e, e AR 2

e

L. T ATAA, THAA 2|

1. T2 ot Ufead, el agi 8l

(a) Only conclusion I follow/ Fae TATHT | SITETOT FTAT 5

(b) Only conclusion II follow/ @<t et I1 FTHLIT FAT &

(c) Either conclusion I or I follow/ 3T a7 et [ AT 11 SIE0T AT &
(d) Neither conclusion I nor II follow/ 7 T et [ T T 11 AT FAT &
(e) Both conclusion I and II follow/ et | i< 11 TAT HIT FLd &

Q11. Statement:

Only fruits are apples.

Some fruits are sweet.

All sweet is healthy.

Conclusions:

[. All apples can be healthy.

[I. Some healthy being fruits is a possibility.

Y

Fa e, U0 g

T %, T

a9t wfie, gedt 2l

Ao

I it weae, geft g1 aahd 2|

I1. T g1 % e g ol FATaT 2l

(a) Only conclusion I follow/ Faer fet STHTIT HTdAT g

(b) Only conclusion II follow/ &<t AT 11 STHLIT hTdT g

(c) Either conclusion I or II follow/ T T fAewe [ 47 11 THLOT AT %’
(d) Neither conclusion I nor I follow/ 7 a7 fAeHt [ T T [ SIqET FXaT 8
(e) Both conclusion I and II follow/ st I 3 11 <11 STTHLIT hLd %’

Q12. Statement:

All birds are colorful.

No birds are rare.

Only a few colorful are tree.
Conclusions:

[. No birds being tree is a possibility.
II. Some colorful are not rare.
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g

Tt 92, FATEA & |

FE ot 9, WX AL

FAA T FALE, 21 &l

A

I. Toreft 7 % & AT g1 T JeATaET 8l

138 FATEA, T Tl 8l

(a) Only conclusion I follow/ Fae fHTHT | SITETOT FLAT

(b) Only conclusion II follow/ @<t et 11 LT FAT &

(c) Either conclusion I or I follow/ 3T AT Tt [ AT 11 SIE0T AT g
(d) Neither conclusion I nor II follow/ 7 T et [ T T 11 AT FAT &
(e) Both conclusion I and II follow/ et | i< 11 TAT THIT L &

Q13. Statement:

Some music is device.

Only a few device is item.
No item is gadget.
Conclusions:

I. No gadget is music.

II. Some device are not item.

Y

Fg T, Rarsa gl

T T feareH, A3ed 2|

FIs ATZH, Tole 781 2l

Ao

. TS Sie, VI T2 2l

1.3 f2ar=q, srgen Al 8l

(a) Only conclusion I follow/ Faer fAeHT | WUTWT%*

(b) Only conclusion II follow/ &<t A=t 11 HTHTUTWT%

(c) Either conclusion I or II follow/ T T fAewe [ 47 11 STHLOT AT g
(d) Neither conclusion I nor II follow/ T a7 fAt [ T &T 11 WUTWT%’
(e) Both conclusion I and II follow/ st I &< 11 11 STHLIT h{d g

Directions (14-18): Read the letter series given below to answer the related questions:

G Tt o I I & forg iy & 7 3rer< sf@er wv qfsy
FTOWUGVDBHJAKZNOMSECRXPI

Q14. Which letter is 11t from left end?
HI-9T FIL I8 B q 1197 2

(@) A

(b)H

(@]

(dK

(e) B
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Q15. How many letters which come in first half of alphabetical series, are to the left of H?
FOTHTAT @A & TIH AT AT H A AT Fohaey 377 H ¥ 912 < 2

(a) Three/ 7

(b) Four /=TX

(c) Five/ 9t=

(d) Six/ =8

(e) More than six/ ©g & A&

Q16. If all vowels are removed from the series, then which letters will be 34 to the left of 6t! letter
from right end?

A% gEaT & Tt T FT g2 AT ST, a7 A-A7 T4 I7T X A TS T F TS AL 9T GRT?

(a)N

(b)Z

(c)H

(dK

(e)]

Q17. Which consonant is exactly between I and A?
HI-G7T T [T A F SN §?

(AN

(b) C

()R

(dM

(e)S

Q18. How many consonants are just preceded by vowel and just followed by consonants?
Fohae =Sl % S T8 U T 3R S 912 3 U 4911 82

(a) One/T=®

(b) Two/ &T

(c) Three/ =

(d) Four/ =T

(e) Five/ af=

Directions (19-23): Study the following information carefully to answer the given questions:

R T 7=t F ST A & fog ReferfEa Smear 1 sargEes sregae fifsg

Seven persons P, Q, R, S, T, U and V buy different numbers of pens one after other but not necessarily in
the same order. Q buys just fewer pens than the one who buys 324 pens. Two persons buy pens between
Q and R. Difference between numbers of pens of Vand U is 68. S is exactly in between P and T who buys
just fewer pens than R. As many persons buy pens after V as before Q.

AT AE P, Q R, S, T, U 3fI¥ V U & 1% U AT-IoRT G&AT H UT GIEd § AThe STl Al oh 29T /7 §
FEd Bl Q, 324 U7 GYIE aTel o41<h ¥ 3 w7 U @iadl gl Q AT RF AT A ARF I @ad gl VAR U
& UT T HEAT F AT HT HAT 68 I PAX T H Sw a9 | S g 4T T, R T & %7 4 @iaar gl V & 91E 3a+
&t T<F 99 giad & oA Q & 98« @iiad gl
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Q19. How many pens does the person buy who buys immediately after P?
P % &% 12 99 @EA a1t A fon fha 99 @aear 872

(a) 324

(b) 156

(c) 276

(d) 210

(e) Cannot be determined/ H&Ta AgT FFaT ST TehaT

Q20. Who buys the 31 highest number of pens?
T gaa fer d=ar § 99 i @Oar 82

(@R

(b)Q

()P

(d)S

(e)Vv

Q21.Ifthe difference between the pens boughtby T and Vis 50, then how many possible numbers
of pens did R buy?

T T 3} VST @) ¢ 941 & o9 &7 sia< 50 g, ar R« forqe awifaa o= @dis?

(a) 392

(b) 257

(c) 251

(d) 323

(e) Cannot be determined/ &Tia AET AT ST TehaT

Q22. Four of the following five are alike in a certain way and hence form a group. Which of the
following does not belong to that group?

fRaffag ot 4 9 9 o AR 0% 8 & 99 € i zafan o g a0 &) Refffa g a s sa
g 4 & faq T8l 57

(@) P-Q

(b)S-U

(c) RT

(d) V-Q

(e) V-T

Q23. Which of the following is true?
I. Q buys more pens than R

IL. V buys 392 pens

III. No one buys fewer pens than T

Raffea d aa-araa 22

L. Q RE AfIF UT @iIgar g

IL V,392 99 @digarg

1L F7E 5t 2~ T & F7 99 751 @iear g
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(a) Both I and I11/ I 3fi¥ 111 St
(b) Only 111/ &< 111

(c) Both I and II/ I 3fIT Il <191

(d) Only II/ Faet 11

(e) All L, I and I/ &Y 1, 11 3R 111

Q24. If we form a four-letter meaningful word by using the first, third, fifth and sixth letter from
the left end of the word ‘FAILURE’, then which of the following will be the fourth letter of the
meaningful word thus formed. If more than one meaningful word is formed mark Z as your
answer. If no meaningful word is formed, mark X as your answer?

7% g7 ‘FAILURE’ 9153 % 9T¢ BT ¥ T, TG, 799 3T TS 78T T ITART Fh AT FA 1T qreieh
T FATA 3, A7 Auferfea § & FAT-97 & T THL a9 i Teg T AT & gRT? e T & Afaw
T AT T §, AT Z T A IAL & & | ifva Mg af S arel ers 7€7 9ar 8, A X F 379+ ST
¥ = 7 ¥ Hiferg

(@R

(b) I

(U

(d)Z

(e) X

Directions (25-29): Answer these questions based on the following information.
In a certain code:

"Given deadlines work assignments" is coded as - "zx iu vs gs"

"Is work" is coded as - "zx pt"

"management deadlines policies meetings" is coded as - "qs rt mh gr"

"meetings assignments" is coded as - "iu gr"

Rerferiera ST o e aX e % S|

LCATIE) Tc‘.'ﬁ:

"Given deadlines work assignments" #T - "zx iu vs qs" % &7 & feds ERIKIDI

"Is work" T - "zx pt" & T H Feag a1 g

"management deadlines policies meetings" #T - "qs rt mh gr" & &7 § feds [ERIRIE I

"meetings assignments" T - "iu gr" % 7 H fda ERIKIDIE]

Q25. What will be the code for “Is” as per the given code language?
QTS e AT & SIET “Is” F foTT T AT I?

(@) gs

(b) rt

(c) iu

(d) pt

(e) None of these/ TAH A FIS 'T@
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Q26. What will be the code for “management” as per the given code language?
2T TS FE WTHT F SAHTE “management” % 1T e 341 gR?

(@) rt

(b) zx

(c)vo

(d) mh

(e) Either rt or mh/ JT T rt T mh

Q27. Which among the following word is coded as “vs” as per the given code language?
& 7 g AT F e Rl § F -1 458 “vs” F A Faag §?

(a) deadlines

(b) assignments

(c) work

(d) given

(e) None of these/ TAH | FIs A5l

Q28. What will be the code for “deadlines policies meetings” as per the given code language?
2T TS HE AT F AR “deadlines policies meeting” % o Fe =T gIm?

(@) mhgsrt

(b) iu vo mh

(c) vo gs mh

(d) zxrtvo

(e) Can’t be determined / [T &1 FoRAT ST FohaT

Q29. What will be the possible code for “Given management” as per the given code language?
2T TS T AT F SAHR “Given management” & f(T ST Fie 4T gRIT?

(a) mh vo

(b) zxrt

(c)gsiu

(d) vsrt

(e) vs pt

Directions (30-34): Study the following information carefully and answer the questions given
below:

et STl #1 ermgE s sregae T i A= i 17 et % S difSg)

There are seven persons i.e. H, [, ], K, L, M, and N who all live in a multi-storey building such that the
ground floor is numbered as 1, and just above it is numbered as 2, and so on till the topmost floor, which
is numbered as 7. The person may not live in the same order as given.

L lives on an even-numbered floor but not live on the 6t floor. Only one person lives between L and M. ]
lives immediately above K but not live on even numbered floor. H lives on a floor above M but below 1.
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AT =A<k Aiq H, 1, ], K, L, M 37T N U SgH ST SHd | T8d & a7 SHIA | §ad &0 1 % &7 § FHi0dT
ToRaT T B, TT T8 3t FT ATAT WIS &l 2 F T H FHHI0A [o6AT TIT § TAT THT THIT FHATHT F2d g4
TEH SULT WIS H 7 F T § FHHIhA [T AT g1 T Tha T g 1o A<k SHT %7 § 7 gi 6T = 37 737 8
L T8 HAT FTeAT HiSTer U TAT g AT 31 §iorer U A8l T@aT 81 L 3T M & 1 Faer U =A<k w2ar gl J,
K % 3% ST TAT § AT a9 HE&AT qTeAt Hiorer U qg1 T@aT gl H, M % 39T SIfehe [ 3 A1 aTeft Hiorer 9¥
TR 2l

Q30. Which of the following is true about the floor on which M lives?
Feffm A as-arsa AT FaRd g g S M @ars?

(a) 27 Floor / Za<T ®iSTeT

(b) 5t Floor/ 9t=ret Hiorer

(c) 7t Floor/ aTaet Hierer

(d) 4t Floor/ =TT gorer

(e) None of these/ T8 & Fls gl

Q31. How many persons live between the floors on which H and N live?
H 3T N o wfSret 92 /a8, 37 o= fvae =aie wa &2

(a) Two/ &T

(b) Four/ =T

(c) Three/ &=

(d) One/t=

(e) None of these/ TAH H FIs A5l

Q32. Who lives on the third floor?
e wioe e war g?

(a)]

(b) L

(0K

(d)H

(e) None of these/ TAH T FHS ag°r

Q33. Which of the following statements is true regarding N?

N % gy # Mol 8§ o f-ar s aaa g7

(a) N lives immediately above M./ N, M & 315 F9% T2aT @

(b) L lives on one of the floors below N./ L, N & == fareft U #forer 92 Tgar g
(c) N lives on the ground floor./ N Y@@ T¥ TaT &

(d) There are three persons between N and K./ N 3T K & 1= fiq =1~ &
(e) All are true./ T T &

Q34.If His related to I and L is related to K, then in the same manner, N is related to whom?
Ife H, 1 & 9efaa § i L, K & geifaa g, av SHt v N fFaa gefaa g2

(a) M

(b)]

() L

(d)K

(e)H
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Q35. In the word ‘HARMONY;, if all the vowels are changed with immediate next letter and all the
consonants are changed with immediate previous letter as per English alphabet, then how many
letters are repeated twice in the new word formed?

sg "HARMONY' &, fe T+t =i 1 i 3ol 7e1< & i avft =it oy S Foraer orea<e SivistT arofaa
ATET T AT T, T T AT 7Y 915 A Fovqr a7 1< g i<y e

(a) One/ T

(b) Three/ i

(c) None/ FTs gt

(d) Two/ =T

(e) Four/ ATX

Directions (36-39): Study the information carefully and answer the questions given below.
Raferfea s 1 sargE® segae fiforg 3w A= R o it F s dfm

A starts from point Q and walks 7m towards the east direction to reached point P. He then takes a right
turn and walks 5m to reached point F. After that, he takes a left turn and walks 4m to reached point G.
He then takes another left turn and walks 6m, reaching point D. From point D, he takes a right turn and
walks 8m to reached point M. Then he takes a left turn and walks 3m, finally reaching point E.

A 53 Q & AT ¢ T g X [6g P 9 ga o [o1T 94 (<97 il AT 7 Hie< 97 | e ag 212 A qg=ar
g 3T f6g F I ug=d o o 5 Hiex 9rar g 39 918, 98 aT1e A T=2d7 ¢ 3% (68 G T Iga & [T 4 "2
=TT g1 T a8 T i Frat | 7T g 3w fég D o ug=d & o 6 Hiex a«rar g1 {65 D &, ag 278 i qg=ar
g sl fig M mx ug= & forg 8 Wex 5rar 81 fhe ag ate s g=ar ¢ &iiX 3 Hiex 9oar g, 6 | &g E /e ag=ar
el

Q36. What is the direction of point E with respect to point Q?
g Q¥ amw # g Efi Remwm &2

(a) Northeast/ W-E@f

(b) Southeast/ E'f@l'UT-fﬁ

(c) Northwest/ ITT-9f2H

(d) Southwest/ Zf&ror-afar

(e) East/ fﬁ

Q37. What is the shortest distance between point G and point M?
fifg G o fafg M 3 = =g 8 et &7

(a) 15m/15 Hiex

(b) 10m/10 Hex

(c) 14m/14 Hex

(d) 16m/16 Hex

(e) 12m/12 Hiex
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Q38. What is the total distance from point P to point M?
g P a g M a& it g1 T it 87

(a) 23m/23 Hiex

(b) 26m/26 Hex

(c) 25m/25 HiexX

(d) 27m/27 Hex

(e) 31m/31 Hex

Q39. Four of the following five are alike in a certain way and hence form a group. Which of the
following does not belong to that group?

fRafafam ot 4 & 9 oF AR 0% & & 98F § o o o ag o e §) RefefRa g a s sy
g ¥ HfaT 78 82

(a) P-D

(b) G-Q

(c) F-E

(d) G-M

(e)Q-D

Q40. Find odd one out.

e § O Suet 97 e s s 3 o= gy
(a) HIQ

(b) SUF

(c) QSH

(d) KMO

(e) VXC

Q41. If product of A and B is five less than 23 and A is half of B, then Find value of B?
13 A 3l B FT VA% 23 & I & g T9T A, B 5T €T &, T B T HIF A1 i (T

(a) 6

(b) 3

(99

(d) 2

(e) 4

Q42. A man invested Rs 2500 at rate of 8% p.a. on simple interest for T years and received Rs 800
as interest. Find the value of T?

T TP A 8% T T it G & qTETXOr AT 9 T AT o forw 2500 93 7 faer foam ik I €4 800
T T T T 7 |41 A19 hirforg?

(@5

(b) 3

()6
(d) 4

(e) 2
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Q43.Neha sold a camera to Sneha at profit of 20%. Had Neha sold the camera to Sneha at Rs 3000,
then she would suffer a loss of Rs 2000. Find the selling price at which Neha sold the camera to
Sneha?

AZT T WET FT 20% ATH I TH F77 9471 I AT 7 ST A FH7T 3000 T F 47 T, A & 2000 T
&t grf gt a8 sy g o HirfSrg e 92 /g7 7 /g i SR 9=r?

(a) 6500 Rs / 6500 &

(b) 5000 Rs / 5000 =T

(c) 6000 Rs / 6000 =T

(d) 5500 Rs / 5500 =7

(e) 7000 Rs / 7000 &7

Q44. Present age of Kiran is 15 years. After five years, the ratio of age of Kiran to Suman will be
4 : 15. Find the age of Suman age three years ago?

T it adAT oy 15 a9 31 9T a9 &, FHRer i oy i gH it S FT AT 4:15 Fr| A A g
g $T g 19 Fifere?

(a) 72 years /72 a9

(b) 67 years /67 a9

(c) 70 years /70 a9

(d) 73 years/73 a9

(e) 69 years/69 T

Q45. A alone can do a work in 6 days, while A and B together can do the same work in 3 % days.

Find in how many days B alone can do the same work?

A st Tt T % 6 TR # FX gahaT §, STt A Sii B e It w1t i 3% AT § T g g1 B Tt
T F1Y &l fohae (R & F aahar g2

(a) 8

(b) 4

(c) 12

(d) 6

(e)2

Q46. A bus can cover 300 km distance in 5 hours. If speed of a car is 20 km/hr less than that of
the bus, then find the time taken by the car to cover 200 km distance?

T 99 5 52 # 300 fFf i & a7 F awdt g1 I w1 At fa s« it wfq § 20 FEfi/eer w0 g v FER
200 3 it T 77 F 7 fogr 1T a9 719 Hiferg?

(a) 4 hours /4 &<

(b) 9 hours /9 =<

(c) 6 hours /6 =

(d) 5 hours /5 =<

(e) 3 hours /3 &<
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Q47. The ratio of height to base of a right angle triangle is 3 : 4. If area of the triangle is 24 cm2,
then find the height (in cm) of the triangle?

T GHHIT Pt Y SFATS, 3 ST FT ST 3 : 4 7 (< Brefst &1 &rwer 24 11 @47 g, I By i S=me
(&t #) w7 fforg

(a) 4

(b) 8

(c) 2

(d)6

(e)12

Directions (48-52): Read the following line chart carefully and answer the questions given below.
The line chart shows the total number of males and females who go to the theatre to watch a
movie in six different days.

N
N L
7 N/

hMonday Tuesday Wednesday Thursday Friday Saturday

=g lales + Females

FRafiiea @ aeE F 1 A TEs TeagT 180 A g 7wt F ST I @Y e Sg A= (/A
# TR # ohew T@a ST a1l TR i< AfgaATsil it $o 44T F9TiaT gl

A e
SN [
- S N\ /S
‘ V
VR

=—=qryg + Higdl

300
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Q48. Find the ratio of the total number of males and females who watched movies on Saturday
to on Monday and Tuesday together.

afRaTe Fit fhew T@ e qEut i AiRATst it 1 HAT FT AHATL ST HIAAGTC H T 917 A< foeew
TG AT [T A ATRATAT it T G&AT & SATATT AT HIToTT

(a) 12:17

(b) 15:16

(c)17:16

(d) 12:19

(e) 11:17

Q49. Find the difference between the total number of males and females who watched movies on
Monday and on Wednesday.

HIRAT 3 FEaT A e @ arer Teut i AfRArsh i Fo F&ar F i+ 3fq¥ q1a g

(@) 75

(b) 125

(c) 25

(d) 50

(e) 120

Q50. The ratio of males to females who watched movies on Wednesday is 7:3. If 40% of the
number of males buy popcorn, then how many males do not buy popcorn?

AT I fhew @A AT TR 3 AIZATS T U1 7:3 g1 AR TEo ol HCAT T 40% T« @O &, qv
R oW i T @ e 87

(a) 22

(b) 29

(c) 23

(d) 20

(e) 21

Q51. The total number of males and females who watched movies on Sunday is 20% more than
that on Saturday. If 30% of the males watched movies on Sunday, then find the number of females
who watched on Sunday.

T At R T ATa qou A TR Y et FeAT AT Y G § 20% A 21 A 30% TR
A it fher @ g, Y Faar 1 fhew T areft afgarst $it dear sra Hifsr)

(a) 290

(b) 281

(c) 315

(d) 356

(e) 245
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Q52. The total number of males and females who watched movies on Wednesday is what
percentage that on Friday?

THATT Tl (e @ ATl TRUT ST ATRATSAT T Tt TAT, AT T (e I@ aTer 2ot < AIgATsh it
Tt #7 faamT yfaaa 872

(a) 25%

(b) 20%

(c) 75%

(d) 62.5%

(e) 66.67%

Q53. A man monthly salary is Rs 32000 and he spends 40% of the monthly salary on rent. If out
of remaining salary, man gives Rs 2000 to his mother and rest he saves. Find the saving of the
man (in Rs.)?

T ST FT ATES 399 32000 T § AT g ATRAF 397 HT 40% FOT W as Far g IR AT 3T 9,
RF 2000 TIX STIHT [T FT 4T & AT AT Y s=maT g1 |ARE i a=97 (702 F) 717 v

(a) 19200

(b) 17200

(c) 15200

(d) 18200

(e) 17600

Directions (54-58): What will come in the place of question mark (?) in the following number
series.

FRafriea e gear § wrams R (2) F & ) s

Q54.36,72,47,63,7,58
(a) 72
(b) 54
(c) 56
(d) 67
(e) 64

Q55.8,7,29,57,113,225
(a) 26

L

(c) 21

(d) 15

(e) 24

Q56. 28,39,52,7,88,111
(a) 69
(b) 67
(c) 66
(d)71
(e) 73
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Q57.13, 25,49,7,133,193
(a) 97
(b) 83
(c) 85
(d) 88
(e)91

Q58. 60, 100, 160, 240, ?, 460
(a) 300
(b) 320
(c) 360
(d) 400
(e) 340

Q59. A boat covers 72 km in upstream in 4 hours and 33 km in downstream in 1.5 hours. Find
the speed of stream?

T AT €T o Tidger 72 TRt 7 g 4 5 | TF FXdl g ST &1 % 5 33 et it T 1.5 5§ a7 Fdt
HEIREIRIGEISEN S

(a) 2.4 km/hr / 2.4 THT/5eT

(b) 1 km/hr / 1 &t /=reT

(c) 3 km/hr / 3 T /=eT

(d) 2 km/hr / 2 Tt /=aT

(e) 4 km/hr / 4 Tt /=eT

Q60. A and B entered into a partnership by investing Rs. x and Rs. (x + 5000) respectively. At the
end of the year, the ratio of profit share of A to B is 4: 5. Find the investment of B.

A ST B 9 FM: X T 3T (x + 5000) T FHT [FAT F4h ATAIL AT & Hfl I9 F A H, ASIKB F
AT FEE 7 ST 4 : 5 81 B FT AT A1d Hiforql

(a) Rs. 25500 / 25500 =92

(b) Rs. 35000 /35000 &9

(c) Rs. 25000 / 25000 &9

(d) Rs. 30000 / 30000 &9

(e) Rs. 20000 / 20000 =93

Directions (61-65): Read the following table carefully and answer the questions given below. The
table shows the number of three (candies, cookies, and cupcakes) different items sold by three
different persons.

Persons Cookies Candies Cupcakes
Maria 82 48 75

Sheena 40 91 56

Jeneria 65 78 50
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Rt arferer w1 sagEs steaae w2 i A= e g st 3 S &1 arfersr i+ srer-srenr saiReat g
=t i (3, THI Sl FURF) FAT-ST T3 Y AT 9T B

i FO Fel IUHD
HTHAT 82 48 75

=T 40 91 56
ST 65 78 50

Q61. If the number of candies sold by Naira is 30 more than that of Maria, then find the difference
between the number of candies sold by Naira and Jeneria.

AT ATIT T AT T FT it AT, AIRAT FIRT =T TS FeT 1 §&ar & 30 AT g, Q¥ 7 i SAtar
g1 = T F Fir g F i st 79 v

(a) 11

(b) 0

(c)10

(d) 12

(e) 14

Q62. The number of cupcakes sold by Jeneria is what percentage of the number of cookies sold
by Maria (approx.)?

ST G = T FThah T ST, HTAT ST ST TS Fehlsl T G&AT T ThadT I g (FRTST)?

(2) 55%

(b) 59%

(c)67%

(d) 63%

(e) 61%

Q63. Find the ratio of the number of candies sold by Maria and Jeneria together to the difference
between the number of cookies sold by Sheena and Maria.

AT i ST g A=t 1 Y it dear wr ofiar i AT g s T Fhe fit e i F siax
SERIGEICENE Y]

(a) 3:1

(b) 1:2

(c) 2:5

(d) 3:5

(e) 1:6

Q64. Total number of cupcakes sold by all three persons is how many more or less than the total
number of candies sold by them.

AT ATRRAT G 9 T HUheh Hl TA AT I GT AT T8 het ht oA dedT & favaeit stfdran a1 7 82
(a) 42

(b) 36

()39

(d) 24

(e) 29
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Q65. If the number of chocolates sold by Jeneria and the number of candies sold by Maria are in
the ratio of 11:8, respectively, then find the average of number of chocolates sold by Jeneria and
the number of cupcakes sold by Sheena.

AT ST G ST T FAlhetel it ST i ATRAT GIRT J9T TS FeT T G&qT FAM: 11 : 8 F JAqIT A g,
AT STATIT G ST T AlFetel T GEAT < N7 GTr =T TS 9o T S&AT F7 [T ATq HITorC

(a) 61

(b) 64

(c) 67

(d) 65

(e) 62

Directions (66-80): What will come in the place of question (?) mark in following questions.

Faferfer oot & wEmes e (7) % S I T snwm

Q66.28% of 75 + 6x? = 212
75 FT 28% + 6x? =212

(a) 70

(b) 40

(c)16

(d) 60

(e) 44

Q67.150%39+3-950=7
(a) 500

(b) 100

() 1000

(d) 800

(e) 600

Q68. (36x8) -(440+8) =?
(a) 221
(b) 252
(c) 233
(d) 278
(e) 215

Q69. /256 — /1728 =?
(a) 16

()9

(c) 25

(d) 4

(e) 27
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Q70.? +6.5x26=132
(a) 4

(b)9

(c)16

(d)o

(e) 2

Q71.m+§+49 =7
(@9
()1
(08
(d) 4
(e) 6

Q72.635-28+320:8=2
(a) 607
(b) 627
(c) 647
(d) 617
(e) 637

Q73.

1209 of 7 —/324 = 702
7% 120% — /324 = 702
(a) 600

(b) 250

(c) 200

(d) 400

(e) 350

__1s0
Q74.64 xX?= T

(a) 4
(b) 6
(c)8
(d)5
(e)2

Q75.7-582 + 706 =670
(a) 584
(b) 544
(c) 524
(d) 576
(e) 546
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Q76.7x150=120 x3
(a) 0.8
(b) 1.0
(c)1.6
(d) 2.4
(e) 1.2

1 —
Q77.435 X2 X - ~2 =7

(a) 4
(b)3
(c)6
(d)1
(e)8

Q78. 9595+ 5 —/289 — 2 =7X5
(a) 120
(b) 320
(c) 440
(d) 380
(e) 540

3 3 _
Q79. 3+?E><3E+?_52

(a) 27
(b) 26
(c) 28
(d) 29
(e) 25

Q80. 572 + 648 — 820 =7x 16
(a) 20
(b) 21
(c) 28
(d) 24
(e) 25

S1. Ans.(a)
Sol.

[.U>Z (True)
I[I. X > W (False)

S2.Ans.(e)
Sol.

[.Q <S (True)
II. V<R (True)
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S3. Ans.(c)
Sol.

I. G < K (False)
I. G > K (False)

S4. Ans.(d)
Sol.
Month Date Persons
January 9 D
26 5]
February 9 C
26 A
March 9 F
26 E
$5. Ans.(e)
Sol.
Month Date Persons
January 9 D
26 B
February 9 C
26 A
March 9 F
26 E
$6. Ans.(a)
Sol.
Month Date Persons
January 9 D
26 B
February 9 C
26 A
March g F
26 E
S$7.Ans.(a)
Sol.
Month Date Persons
January 9 D
26 5]
February 9 C
26 A
March 9 F
26 E
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$8. Ans.(c)
Sol.
Month Date Persons
January g D
26 B
February g C
26 A
March g F
26 E
S9. Ans.(b)
Sol.
REBUILT
—
$10. Ans.(a)
Sol.
$11. Ans.(d)
Sol.

Fruits (‘»

$13. Ans.(b)
Sol.

CREEDCD
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S$14. Ans.(c)
$15. Ans.(b)
$16. Ans.(d)
$17. Ans.(e)
$18. Ans.(d)
$19. Ans.(a)
Sol.
P U Q S v R T
= = = > = D —
324 256
$20. Ans.(b)
Sol.
P U Q 5 v R T
> > = > > D —
324 256
$21. Ans.(c)
Sol.
P U Q 5 v R T
= = = = = 3 —
324 256
$22. Ans.(c)
Sol.
P U Q S v R T
> > > = > >
324 256

One person gap between two given persons except option (c)

$23. Ans.(a)
Sol.
P U Q S v R T
> > > > > >
324 256
S$24. Ans.(e)
$25. Ans.(d)
Sol.
Word Code
Given Vs
Deadlines Qs
Work Y
Assignments Iu
Is Pt
Management/Folicies Rt/mh
Meetings Gr

From the information provided, "Is" is coded as "pt".
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$26. Ans.(e)
Sol.
Word Code
Given Vs
Deadlines Qs
Work Zx
Assignments Iu
[s Pt
Management,/Policies Rt/mh
Meetings Gr

From the information provided, "management” is coded as " Either rt or mh".

$27. Ans.(d)
Sol.
Word Code
Given Vs
Deadlines Qs
Work Zx
Assignments Iu
Is Pt
Management/Policies Et/mh
Meetings Gr

From the information provided, "Given" is coded as "vs".

$28. Ans.(e)
Sol.
Word Code
Given Vs
Deadlines Qs
Work Zy
Assignments Iu
Is Pt
Management/Policies Rt/mh
Meetings Gr

Can’'t be determined

$29. Ans.(d)
Sol.
Word Code
Given Vs
Deadlines Qs
Work Zx
Assignments Iu
Is Pt
Management/Policies Et/mh
Meetings Gr

‘vs rt’ will be the possible code for “Given management”


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i

$30. Ans.(a)
Sol.
Floors Persons
7 |
6 K
5 I
4 L
3 H
2 M
1 N
$31. Ans.(d)
Sol.
Floors Persons
7 ]
6 K
5 |
4 L
3 H
2 M
1 N
S32. Ans.(d)
Sol.
Floors Persons
7 |
6 K
5 I
4 L
3 H
2 M
1 N
S33. Ans.(c)
Sol.
Floors Persons
7 |
6 K
5 I
4 L
3 H
2 M
1 N
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S$34. Ans.(e)
Sol.
Floors Persons
7 ]
G K
5 |
4 L
3 H
2 M
1 N

First person lives two floors below the second person.

$35. Ans.(c)
Sol. HARMONY - GBQLPMX

$36. Ans.(a)
Sol.
E
Tm P M
Q
6m
5m
4m
F G
$37. Ans.(b)
Sol.
E
7m P M
Q
6m
5m
4m
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$38. Ans.(a)
Sol.
E
7m P M
Q
6m
5m
4m
F G
$39. Ans.(b)
Sol.
E
D am Im
7m P M
Q
6m
Sm
4m
F G

First point is in south-west of second point except option (b)

$40. Ans.(d)

Sol. logic followed:

Opposite
letter

H ] Q
L1

+2

S$41. Ans.(a)
Sol.

A xB=23-5

A xB=18
Given,A=B/2
So,B/2 xB =36
B=6
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S$42. Ans.(d)
Sol.

B . principie Xratextime
Simple interest =

100

2500x8xT

ATQ, B0O = o0
T =10000/2500 = 4 years

S$43. Ans.(c)

Sol.
Cost price of camera = 3000 + 2000 = 5000 Rs

Required selling price = 5000 x % = 6000 Rs

S44. Ans.(b)

Sol.
After five years, the age of Kiran = 15 + 5 = 20 years

So, present age of Suman = 20 x % — 8=67 years

$45. Ans.(a)

Sol. Total work = 24 unit (LCM of 24/7 and 6)
Efficiency of A = 24/6 = 4 unit/day

Efficiency of A and B = 24x7/24 = 7 unit/day
So, efficiency of B = 7 - 4 = 3 unit/day
Required days = 24/3 = 8 days

$46. Ans.(d)

Sol. Speed = Distance/Time

Speed of bus =300/5 = 60 km/hr

So, speed of car = 60 - 20 = 40 km/hr
Time = Distance/speed

Required time = 200/40 =5 hours

$47. Ans.(d)

Sol. Area of triangle = 1/2 x base x height

Let height and base of a right angle triangle be 3x cm & 4x cm respectively
ATQ,24=1/2 x 3x x 4%

24 = 6x?

X?2=4

x=2

So, the height of the triangle = 6 cm

$48. Ans.(b)
Sol. Required ratio = 375 : (75+325) =375 :400 = 15:16

$49. Ans.(c)
Sol. Required difference = 75 - 50 = 25
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$50. Ans.(e)
Sol.

Males who watched movies on Wednesday = 50 X % = 35

100—440
100

=21

Required answer =35 X

S$51. Ans.(c)
Sol.

Total number of males and females who watched movies on Sunday = % X 375 = 450

The number of females who watched on Sunday = 450 % % = 315

S$52. Ans.(b)
Sol.

Required percentage = % X100 = 20%;

$53. Ans.(b)
Sol.

Saving of the man = 32000 X %— 2000 =17200Rs

$54. Ans.(b)

Sol. Pattern of series -
36 +62=72

72 -52=47

47 + 42 =63

63 -32=54

54 +22=58

$55. Ans.(d)

Sol. Pattern of series -
8x2-1=15
15x2-1=29
29x2-1=57
57x2-1=113

113 x2-1=225

$56. Ans.(a)

Sol. Pattern of series -
28+11=39

39+13 =52

52+17 =69

69 + 19 =88

88 +23=111
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$57. Ans.(c)

Sol. Pattern of series -
13+12=25
25+24=49

49 + 36 = 85

85 +48 =133

133 +60=193

S$58. Ans.(e)

Sol. Pattern of series -
60 +40 =100

100 + 60 =160

160 + 80 = 240

240+ 100=340

340 + 120 = 460

$59. Ans.(d)
Sol.

Upstream speed of hoat= ? =18 kin/hr

Downstream speed of buatZE = 22 lkm/hr

= 2 km/hr

22-18

Speed of stream =

$60. Ans.(c)
Sol.
ATQ,

x _ 4

x+5000 &
Sx = 4x + 20000

x = 20000
Investment of B = 20000 + 5000 = Rs. 25000

$61. Ans.(b)
Sol. The number of candies sold by Naira = 30+48 = 78
Required difference =78 - 78 =0

$62. Ans.(e)
Sol.

Required percentage = :—?‘ ® 100 = 60.9 & 61%

$63. Ans.(a)
Sol. Required ratio = (48+78):(82-40)=126 :42=3:1

S$64. Ans.(b)
Sol. Required difference = (48+91+78)-(75+56+50)
=217-181=36
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$65. Ans.(a)
Sol.

The number of chocolates sold by Jeneria = % X 11 =66
66+56

Required average = =61

$66. Ans.(a)
Sol.

28 %75+ 6 x?= 441
100

Bx7=441-21
6x7 =420
?=70

S$67. Ans.(c)

Sol. 150x39+3-950="7
1950-950=7
?7=1000

$68. Ans.(c)
Sol. 288 - 55=?
?7=233

$69. Ans.(d)
Sol. 16-12=?
4=7

$70. Ans.(d)
Sol. ? + 169=169
7=0

S$71. Ans.(b)
Sol.
1H?E4+%+49 =7

_ 2BxT

449
7=1

?

$72. Ans.(c)

Sol. 635-28 +320+8=7
635-28+40=?

7= 647

$73. Ans.(a)
Sol.

120 w718 = 702
lﬂqﬂ

20 %7=720

100

7= 600
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S$74. Ans.(a)
Sol.

Vo4 X7= 16
64 X 7= 256
7=4

$75. Ans.(e)
Sol.?-582 + 706 =670
?7=1252-706

?7=546

$76. Ans.(d)
Sol. 7 x150=360
7=24

$77. Ans.(d)
Sol.

435 X2 X ——2=7
290

3-2=

7=1

$78. Ans.(d)

Sol.

9595
5 17 —2=7x5

1900
=7

5
380 =7

$79. Ans.(e)
Sol.

38 B0
7+3+— X =52
?=52-3-—-24
7=25

$80. Ans.(e)
Sol.
1220 — 820 =7?x 16
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